C:# Finding Rule w/ Two Steps Name:

Deter mine which rule best represents the expression the function machine used. Answers
D | nputqN) | 6 | 3| 4| 7| 5| AN+5 B.N+6
OQutput | 12| 9 |10 |13 | 11| C.Nx6+6 D.Nx5 L
2.
2) | InputuU) | 7| 6| 5| 3| 4| AUx8 B.Ux6-11
Output | 34| 28| 2210 16| cu+s D.Ux6-8 3
4.
3 | Input@G) | 5| 3| 4| 7| 6| AGx11+10 B.Gx6
Output | 30|18 | 24 |42 | 36| C.Gx6-11 D.G+ 10 >
6.
4) | Input(y) | 14|16 | 15| 13 | 17 | A.Y-10 B.Y x10+4
Output 416 |5 |3|7]| CYx14+2 D.Y x11-2 k
8.
S | Input@) | 15|14 |16 |17 | 13| A.J+10 B.Jx 10
Output 5|1 4|6 | 7] 3 C.J-10 D.Jx13-2 %
10.
6) | InputR) | 3| 7| 5|6 | 4| ARxI10 B.Rx10+ 10
Output | 28 |52 |40 | 46 | 34| C.Rx6+10 D.R+10
Nl input@Q [ 5| 7] 3|6 4| AQ+9 B.Qx8+9
Output | 49 | 65|33 |57 | 41| C.Qx8-10 D.Qx9
8 | Input(s) | 7| 5| 6| 3| 4| A.Sx6+4 B.Sx2+6
Qutput |14 |10 | 12| 6 | 8 | C.Sx2 D.Sx 4
9D | InputK) | 4| 6 | 7| 5| 3| AKx4 B.Kx3-3
Output 7 9 |10 | 8 6 C.Kx8+4 D.K+3
10) | nput(v) | 5| 6| 7| 3| 4| AVx10-5 B.V +2
Output 48 | 58 | 68 | 28 | 38 C.Vx10 D.Vx10-2

1-10 90|80 70|60 |50]40]30]20[10] O |
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C:# Finding Rule w/ Two Steps Name: Answer Key

Deter mine which rule best represents the expression the function machine used. Answers
D | nputqN) | 6 | 3| 4| 7| 5| AN+5 B.N+6 B
OQutput | 12| 9 |10 |13 | 11| C.Nx6+6 D.Nx5 L=
> D
2) | InputuU) | 7| 6| 5| 3| 4| AUx8 B.Ux6-11 5
Output | 34| 28| 2210 16| cu+s D.Ux6-8 3
. A
3 | Input@G) | 5| 3| 4| 7| 6| AGx11+10 B.Gx6 C
Output | 30|18 | 24 |42 | 36| C.Gx6-11 D.G+10 >
6 C
4) | Input(y) | 14|16 | 15| 13 | 17 | A.Y-10 B.Y x10+4 B
Output 416 |5 |3|7]| CYx14+2 D.Y x11-2 k
g. C
S | Input@) | 15|14 |16 |17 | 13| A.J+10 B.Jx 10 D
Output 5|1 4|6 | 7] 3 C.J-10 D.Jx13-2 %
0. D
6) | InputR) | 3| 7| 5|6 | 4| ARxI10 B.Rx10+ 10
Output | 28 |52 |40 | 46 | 34| C.Rx6+10 D.R+10
Nl input@Q [ 5| 7] 3|6 4| AQ+9 B.Qx8+9
Output | 49 | 65|33 |57 | 41| C.Qx8-10 D.Qx9
8 | Input(s) | 7| 5| 6| 3| 4| A.Sx6+4 B.Sx2+6
Qutput |14 |10 | 12| 6 | 8 | C.Sx2 D.Sx 4
9D | InputK) | 4| 6 | 7| 5| 3| AKx4 B.Kx3-3
Output 7 9 |10 | 8 6 C.Kx8+4 D.K+3
10) | nput(v) | 5| 6| 7| 3| 4| AVx10-5 B.V +2
Output 48 | 58 | 68 | 28 | 38 C.Vx10 D.Vx10-2

1-10 90|80 70|60 |50]40]30]20[10] O |
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